Efficiency vs dr

0.5
0.45

efficiency vs AR
=}
D

©
O w
w

0.25
0.2

0.15H
0.1
0.05F
o +0F
T F || —— DQM_CKF_QCDHighPt_base
o 1'1;_' —— DQM_CKF_QCDHighPt_retrainOldFiles125 v2_prelimWPM_epoch2
14+ 1-TEE LI 181510190 N
E | " " i .
oot Lt LI i | R
1073 1072 10

1
TP min AR

[ Efficiency vs dr (track,jet) |
0.5

, Jet

P
o 2
2 0a
»_ O

0.35

©
w

0.25

etticiency vs AR(T

o
[N

0.15
0.1
0.05
Vel

Ratio
N

0.95

-1

1072

=
S
w

1
AR(TP, jét)

Efficiency vs pu

50.05
o
9.045
20.04
(]
®.035
=
20.03
0.025
0.02
0.015
0.01
0.005
10

Ratio

1.1

1 --

40 50 60 70 80 90 100
Pileup

O T
o !

0.%



	Contents
	Page 1


